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Negative Exponents of 10 (Power of 10)

10 =(−1) 4 × 10 =2

741.1 × 10 =(−3) 10 =(−1)

−1 × 10 =2 10 =(−2)

−3 × 10 = 4 × 10 =

8 × 10 =(−4) 808.9 ÷ 10 =2

190.6 ÷ 10 =(−3) 1 × 10 =(−3)

10 =(−1) 10 =(−3)

10 =(−4) 769.7 ÷ 10 =(−3)

−3 × 10 = 2 × 10 =0

555.8 × 10 =(−1) 890.2 ÷ 10 =(−2)

www.snowmath.com

https://www.snowmath.com


Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Negative Exponents of 10 (Power of 10)

10 = 0.1(−1) 4 × 10 = 4002

741.1 × 10 = 0.7411(−3) 10 = 0.1(−1)

−1 × 10 = −1002 10 = 0.01(−2)

−3 × 10 = −30 4 × 10 = 40

8 × 10 = 0.0008(−4) 808.9 ÷ 10 = 8.0892

190.6 ÷ 10 = 190600(−3) 1 × 10 = 0.001(−3)

10 = 0.1(−1) 10 = 0.001(−3)

10 = 0.0001(−4) 769.7 ÷ 10 = 769700(−3)

−3 × 10 = −30 2 × 10 = 20

555.8 × 10 = 55.58(−1) 890.2 ÷ 10 = 89020(−2)
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